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1.  

(A)  
(B)  
(C)  
(D)  

2. R  

(A) 1R = 2.58 10-4 kg
coul       (B) 1R = 2.58 10-4

kg
joul  

(C) 1R = 0.01 10-4
kg

joul           (D) 1R = 0.01 10-4
kg

coul  

3.  
(A)  
(B) Precursor  
(C)  
(D)  

4. Fick’s Law  J
�

 = -D ∇
�  

(A)  
(B)  
(C) unisotropic  
(D)  

5. Xenon  
(A) (B) (C) (D)  

6.  

(A) (B) (C) (D)  
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1. 10-4 K∞ 1.000 1.001

e  

(A) 10 (B) 1 (C)0.1 (D)100  

2. 1000MW  

(A) (B) (C) (D)  

3.  Bare Reactor Buckling 9.52 10-5 -2

 

(A)32.2cm  (B)64.2cm  (C)150cm  (D)322cm 

4. PWR 3025MW 136.3 106 
hr

b�

 h in h out h out  h in  hr
Btu3412kW1 =  

(A)757 b
Btu

�
(B)75.7 b

Btu
�

(C)7.57 b
Btu

�
(D)7570 b

Btu
�

 

5. 12ft  )(
144

)72(
cos0 in

kWZ
P

π−

 

(A)1.57      (B)1.71  (C)2.04  (D)3.05 

6. 3.4 barn  241002540 ×. / 3 

 

(A) 7.2cm     (B)8.9cm      (C)11.6cm      (D)14.2cm 

7. Bare Reactor 40 30 20 Diffusion area 

90 2  

(A)0.70     (B)0.21    (C)0.14   (D)0.38 

8. 12C elastic scattering 0.02eV  0.01MeV

4.8 barn 12C  

(A) 3.1 10-13 (B) 9.5 10-12 (C) 1.2 10-12  (D) 6.2 10-13  
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9.  1-MeV  γ- 105 seccm/rayr 2 ⋅−  5×10-3 

sec⋅g
erg dose equivalent rate  

100 sec⋅g
erg  1 sec

rad  Quality factor = 1  1Gy = 100 rad  

(A) 1.80 hr
mSv (B) 3.60 hr

mSv (C) 5.40 hr
mSv (D) 7.20 hr

mSv  

10.BWR 13

10-4

 

(A) 1.3 10-5 (B) 1.3 10-4 (C) 1.3 10-3 (D) 1.3 10-2 
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1.   = n  υ       
    2cmsec⋅  

 n 3cm  

   υ sec
cm  

 

2. infinite bare slab Reactor a  (-
2
a

) = (
2
a

) = 0

 P K∞ 1 Recover Energy
ER  Σf   

 
3. γ   

 
4. LWR once – through fuel cycle   

 
5. Xenon   


